ML(/Z‘/p/y/ng Mixed A/L(MA&/\S

Practice 4D: Chapter 10, pages 24-25

Compute each product. Give your answer in simplest form.

1o _ 2_
7€><5— 3><25
9%x2= 16><2§=
5x11%= 4x9%=

2 _ S «w8 =
3§><21 = 712><8
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Practice 4D: Chapter 10, pages 24-25

Compute each product. Give your answer in simplest form.

7 _ 4 _
4)(35— 2)(87—

4 _ 1 —
BXQF_ 10@)(6—

2 _ 3 —
7)(55— 1ﬁ><12_

7 — 5 _
7§X10— 3)(65—
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Practice 4D: Chapter 10, page 24-25

7ixs = (7+i)xs=(7x5) (9

9%><2 = (9+%)x2 = (9x2)+(%x2)
=18+2=18+2=18+11=19]

o115 =5x{11+7)= 11 (55
=55+32=55+32 =582

3%x21 :(3+§)x21 :(3><21)+(§x21)
:63+(2x%):63+(2x7)
=63+14=77

3><22—3><(2+ 2)=
—6+——6+1

l(()

)

16x22 = 16x(2+§) = (16x2)+(16x%)
=32+%2=32+105 =422

£x93=4x(5+3) =10+ {13)
=36+12=36+3=36+11=371

rio=(7+gfo=(ror{ e
=56+ = 56+ 56+3—_591

tnsf=ax(s-3)~(ex3)-(ex])
=12+2=12+37 =15}

3><9——3><(9+ 2)=(3%9)+ (3><—)
=27+12=27+1-1=281

7><5—_7><(5+ ) (7><5) (7>< )
_35+—_35+42_39—

7Zx10= (7+%)><10: (7><1o)+(%><10)
=70+2=70+75=77]

2x8%:2x(8+%) :(2><8)+(2x;)
=16+5=16+11=177

1011—8><6: (1O+11—8)><6: (10x6)+(11—8><6)
:60+%:60+%=60%

12x12=(1+3)x12= (1x12)+(2x12)
=12+%8=12+18-12422 =142

ax63=0x(6+) - ax6)+(3x3)
= 18+%= 18+%= 18+1%=19%
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